#4: Develop a C program that receives a sequence of n ((N) values ((N) terminated by 0xFF from the Input Device and send their average to the Output Device. Make hypothesis on n and on overflow management. Try solutions with and without interrupts.
// With Input Device interrupt

// General hypothesis about stack availability: don’t care

#include <didarch.h>

// Global array
uint16 tot, tot_old;
uint8 num;

uint8 error;

uint8 go;

// ISR for Input Device
void isr_int1()

{


uint8 data;


data=peek(IN_DATA);


poke(IN_STATUS, 0x00);

if (data!=0xFF)

{



tot+=data;



num++;



if(tot<tot_old) error=TRUE;

else tot_old=tot;



if(num==0) error=TRUE;

}
else go=TRUE;


}

int main()

{


// Average


uint8 average=0;


// Init

tot=0;
tot_old=0;
num=0;
error=FALSE;

go=FALSE;

// Enable interrupt related to Input Device

enable_int1();


// Wait for N values from Input Device


while(go==FALSE);


// Disable interrupt related to Input Device

disable_int1();

if (error==FALSE)

{

average=tot/num;


poke(OUT_DATA, average);


poke(OUT_STATUS, 0x01);


while(peek(OUT_STATUS)!=0x00);

}

}
#4: Develop a C program that receives a sequence of n ((N) values ((N) terminated by 0xFF from the Input Device and send their average to the Output Device. Make hypothesis on n and on overflow management. Try solutions with and without interrupts.
// Without Input Device interrupt

// General hypothesis about stack availability: don’t care

#include <didarch.h>

int main()

{

// Main variables
uint16 tot=0;

uint16 tot_old=0;

uint8 num=0;


uint8 average=0;

uint8 error=FALSE;


// Values from Input Device


do

{



while(peek(IN_STATUS)!=0x01);


tot+=peek(IN_DATA);



poke(IN_STATUS, 0x00);


if (data!=0xFF)

{



tot+=data;



num++;



if(tot<tot_old) error=TRUE;

else tot_old=tot;



if(num==0) error=TRUE;

}

}while(data!=0xFF);

if (error==FALSE)

{

average=tot/num;


poke(OUT_DATA, average);


poke(OUT_STATUS, 0x01);


while(peek(OUT_STATUS)!=0x00);

}

}
